A FOALE EE R BT F A A (10~12 1)

BB 10 H PldEfE B 118 (e

B 12 A P

KEOEHER H Kt WA RAOE [ [Gkk [ R R e R TR A, <SR B R
& |HH Sy ¥ | BT [REEERE | OKIED OKJ5) (k) Gaate)  [Gekke) |Gk  |GekE) | Gokir)
— = E = 1076 T 0 0 0 0 0 0
FE1 | B O E % 1mith 10080 F |- - 63 0 0 0 0 0 0 0
B - - 33 0 0 0 0 0 0 0
— A s E = 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AN o EEmshan Y- - 79.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- - 11.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- - = = 0.0003 7% _[0.0003Tw _[0.0003 K1 |- = - - R
K3 |IRIT LK EFDLE Y mg/1]0.003LL - - 0.00037% 10.00034% |- 0.00037%  [0.00037#  [0.000373 [0.000373  [0.00031
- - 000034 o,ooosaa‘jgmﬁ - —t - - - -
E = E 0.000054<1% |0.00006A7m |- = = = E
4 (KK OZDILEY mg/1]0.00054F |- - - - - - - - - -
- - E - 0.00 47w [0-001ATm  [0.00 40w |- - - - -
5 | BL U R OEDILE Y A mg/1]10.01LLF - - 0.0014#  |0.001AKm |- 0.0014%  [0.001A%  [0.0014%  [0.0014  0.0014#
R - - 0.0014#  |0.00U4 |- - , z 7 v
) = = = 0.001 0.001 A4 [0.00 R |- = = = =
6 [$p DAY mg/1{0.01LL T - - 0.00L4  [0.0014m |- 0.001A  [0.00144#  |0.001A44  [0.0014  [0.001 A
- - 0.0014i#  [0.0014 |- - - - - -
- - E - 0.001 0.001Am  |0.00RTm |- - - - -
7 [eBROZDOILEY mg/1]0.01LLF - - 0.001 0.001152 - 0.0014  [0.001Ki%  o.001  [o.0014  [0.001 A
- - 0.001 0.001 £ - - - - - -
- = = 0.0020m _ [0-002A44m _ [0-002KTm |- - - - -
8 |tz e AW mg/1[0.02LLF - - 0.002A48  [0.00240 |- 0.002A448  10.002A0  [0.0024%%  0.002K78  [0.002A4%i
- - 0.0024¢ o.oozii% T - - - -
E = E 0.004K] 0,004 E = = = =
JE9 |HfEERRE S R mg/1{0.04LL F - - - - - - - - - -
. pns - - - - - 0.001A7m  |0.00ATm  |0.001A%m  |0.001 4w |0.001Aqwg
10> T A AA L IO LT *& mg/1{0.01LLF - - - - - - - - - -
- - E = E JEST] BRI B - - - -
| R R CHRREE R | o e[0T |- - - : ! - - - - -
e
= = = 0.08Km __ [0.09 E = = = =
12| 7y R K OEDIED mg/1{0.8L4F - - - - - - - - - -
E - E 0. LR 0. R - - - - -
18RI REOZO A 2o | - - - -k - - - -
N B - 0.0002AKT% [0.0002A [0.0002KTm |- - - - -
F14| AR SR mg/1)0.002L4F |- - - - - 0.0002:4#  [0.00024i#%  0.000255#  0.00024%  0.0002547%
- N - = = = 0.005KT% _ [0-005KTm |- = = = =
H15|1, 4—TA XY mg/1]0.05LLF - - - - - - - - - -
- E = 0.004K7m  [0-004KTm  [0.004KTm |- - - - -
16l =, o) —1, 2¥/mnxFLv 75 mg/1]0.04L4L - - - - ! - 0.004A5#  10.004401  [0.0045K4#  |0.004A4w  [0.0047i
- N i - = = 0.002AT%  [0.00270m  [0.0024m |- R R R R
S VIPZ4=i=5 Y % v mg/1)0.028L F - - - - - 0.0024%#  0.0024%%  |0.0027%  [0.0025%5  [0.002K
— 2 = - 0.00TAw  |0.00Km  [0.001AKwm |- - - - -
187 v ranFL gy |me/1)0.0184TF - - - - - 0.001A4%#  0.0014#  |0.00145  [0.001545  [0.0014
- 7 - E = 0.00LK  |0.00km  [0.000Km |- = = = =
H19|M o FL mg/1{0.01LL F - - - - - 0.001K7  [0.001K  [0.001K  [0.001K  [0.0014K0H
— E E 0.001m  [0-001  [0.00140m |- - - - -
Hoo| B mg/1]0.01LLF - - - - - 0.001A4%#  0.0014#  |0.00145  [0.001545  [0.0014
- - E = E E E 0.06 0.06 0.06 0.06 0.06
o1 | iR mg/1{0.6L1 F - - - - - - - - - -
o - E = E = E 0.002m  |0-002k1%  |0-002k7  |0.00250  [0.002HK1m
22|/ mafEE mg/1]0.02LL F - - - - - - - - - -
E = E 0.02 0.01 E E E E =
B k| Za=1=0i N mg/1{0.06LL F - - - - - 0.006A  0.01 0.006-  0.01 0.00641it
N - E = E = E 0.003%  |0-003k1%  |0.003k7  |0.003  [0.003K1m
24|y anafilg mg/1]0.03LL F - - - - - - - - - -
S = = = 0.0 T 0.0 = = - - -
ol mEraury f’, mg/1[0.1LAF - - - - - 0.01 0.01 0.01 0.01 0.01
= _ _ _ _ _ e e e s o
- &l E = E = E 0.003 0.002 0.003 0.002 0.003
Fo6| RAEE i mg/1]0.01LLF - - - - - - - - - -
; E = E 0.03 0.02 E E E E =
H2TIRR N A ZZ mg/10.1LLF - - - - - 0.02 0.02 0.02 0.02 0.02
- E = E = E 0.003%  |0-0031%  |0-003k7  |0.0030  [0.003K1m
28| Ny fkg mg/1]0.03LL F - - - - - - - - - -
E = E 0.005 0.007 E E E E =
pros] il = dei=g s mg/1]0.03L4 F - - - - - 0.006 0.007 0.006 0.008 0.006
N E = E 0.000km  |0.000KTm |- = = = =
H30| 7 mEARL L mg/1]0.09LL - - - - - 0.0094%#  0.0094#  |0.0097c  [0.0095%  [0.0095i
. - E E E E E 0,004 |0-0087% _ |0.0080T  |0.008w _ [0.008Am
31BN LT ATER mg/1]0.08L4 - - - - - - - - - -
- - - (IR ST NS S (OVF S/ R - - - -
32| High Kk DAY mg/1|1.08LF - - 0. 1445 0.1K1% - 0. 140 RS RS RS RS
e ————
— — ¥ - XPERD — — — — —
33T A= LR EDALE W % mg/1[0.200 F - - 0.36 0.04 - 0.02A45 0.02 0.02A4i 0.02A4i 0.024
B - - 0.35 0.02 - - - - - -
- B E = 0.16 0.0 [0.05RW |- - - - -
34| K OZF DAY mg/1[0.350F - - 8.% 8.8@5@% - 0.034%  0.03545  |o.03ski  [0.03A  [0.0354%
- - . 03A - - - - - -
YN ar | R OLRE (O.LRW [OORm | [ [ [
H35|4i f OFDEW mg/I|1.OLAF 0.1 0. 1A (BEST 0. 1A 0. 1A 0. 1A 0. 1A
- - 0.1?';#5 0.313:7#& - - - - - -
E = I 13. 3.7 E E E E E
H36| T MY LR NEDILEY iﬁ mg/1|200L4 T - - 12.5 14.6 - 16.4 15.8 16.4 16.3 16.9
- - 13.0 15.6 - - - - - -
- - - E E 0.016 0.00650m  |0.0050m |- = = = R
37|~ B OO E Y £ |mg/1]0.05L4 F - - 0.021 0.005?7%*. - 0.005A4  |0.0054%#  [0.0054  0.005K4  [0.00547
- - 0.031 0.0054# |- - - - - -
E = 7.0 8.1 15.0 3.2 2.9 3.6 3.2 3.2
H38| Mk A4 mg/1|200L4F - - 3.3 7.3 16.4 16.5 13.6 16.4 15.8 15.0
- - 3.9 10.3 16.0 16.2 14.0 16.2 16.0 16.0
E E 63 59 10 E E E E E
PR Ye | i Ay ANEE SN 3¢ i) % mg/1{300LL F - - 74 63 - 58 53 19 52 56
5 - - 81 70 - - - - - -
E = 40 17 E E E E E =
JLAO| R IRE mg/1|/500L4 F - - 54 Hg 87 60 75 70 89 72
_ - 5 s 2 ! ! s Ll




- E = E 0.02km _ [0.02km |- = = = =
A1 RE A Elgnfossr - - N - - - -
7 _ _ _ _ _ _ _ _ _ _
Haolv A3 2 |mg/1fo.000011F |- - - - - - - - - -
[0 - — - - - - - - - -
35432 —AF LAVRVFA—V 5 |mg/1]0.00001LLF |- - - - - - - - - -
~ ] 5 = = = 0.002m  [0.0020T% |- B B = E
44|36 14 RETE LA A - - I - E E E E
= = = 0.0005 K% [0-000641m |- = = = =
3457 = ) — ?\ mg/1|0.0050F |- - - - I . - - - -
- = = = = = 0.7 0.7 0.7 0.7 0.7
JLae|GHY) (2H R (TOC) DE) ;:k mg/1[3LA T - - - - - 0.7 0.8 0.7 0.7 0.7
- - - - - 0.8 0.9 0.8 0.8 0.8
. j - - 7.31 * 7.05 % 7T 7.43 7.33 7.29 7.40 7.28
J47(pHAE 5.8~8.6 - - 746 x 7.20 * 711 o« 7.40 7.33 7.39 7.40 7.30
— — 7.44 ® &24 ® ;13 * ;17 ;518 7.20 7.20 7.39
= - - SR A TETRC TETRC : G
48|k i ey - - i Siale |naac  [wEar  |Reac ; S
< - - - L) EEals  |EEL LR LR Gt
: e - - T 7 AT AT AT AT o
Erite] B2 Y BTN - I B L Hile Rl sl o [HEwal S
‘E - - Jos Rsle UREAL LREAL  LREGL B
R = = Tiz 0. T [0.50m * [0.50) 0 0. 0.
JL50| ¢ FE 5T - - 17 = |06 «lo.sad 05K 0 0. 0.
- = - - 92 . om% . Mi% «_lo. 0 0. 0.
. j - - 8.1 * 0.2 * 0.24m * 0. 0 0. 0.2
H51| W B2 F - - 72+ oz o [o.2ki + o 0. 0.2 0.
- - 9.4 ¥ 0.2 = 0.2 0. 0.2 0.2 A 0.2

3T [T fiE



A FRALE )R PR R E T H AR A R (10~12 ) R IOAMERE B T RERE FE 12 A BEE
BB P H AR T H Kith Fii it A AH YoKHLH O [fE7Kaz K (R s bRl = o D oRs] (AT RCRSH 0 A < S ot [BTR BT Al
= Pan LA NEREAEN KPR UKPER) UK) (Fa7KFEE) (Fa7KEE) (Ha7/KEE) (Ha7/KEE) [CERICES)
H1|7vFE ROBZOED mg/1]0.02L4 F - - - - - - - - - -
B2 |vor ROEnibay me/10.00281 )| - - . - ? i i i i R
B3 |[=v 7 K OZEDEY mg/1]0.02L4 - - - - - - - - - -
B4 |k
) = = 0.0001KT% _[0.0004K1% ]0-0004km |- - = = =
H5 |1, 2—y7manxky mg/1]0.004LL - - - - - 0.00044%i 1000044 [0.00044%5 10.0004K  [0.0004 745
H6 |HikRk
H7 Ak
= = 0,044 0.0 0.04 KT - N N N N
H8 |FLv> mg/1]0.4LLF - - - - - 0.04 A 0.04 A 0.04 A 0.04 A 0,044
HO |7ormy (ea—xFr~Fn) me/l|o.0s T |- - - - - - - - - -
; TERAC VR0, R B
H 10| dif # % mg/1{0.6LL
ERBIEIES
) ) ] TEFC COROT0. Ra B
H12| kit mg/1{0.6LL F
H13[sroarer=rin me/1|0.01A T ek - - - - - - - - -
H14|fk rn5—1 mg/1[0.0284 T |- - - - - - - - - -
H 15| B3R s 100 - - - - - - - - - -
- E = E 08~ 0.7~ 0.4 0.4 05 0.4 0.7
H16|kHHiHzE mg/1{1LAF - - - 08 = Jo7 = 0.4 0.5 0.5 0.4 0.6
- - - 08 = 0.6 = 0.4 0.5 0.5 0.4 0.6
. - E = 63 59 70 E = = = =
H17|\ VDb, ~ T 32T N5 () mg/1]10~100 - - 74 63 - 58 53 49 52 56
- - 81 70 - - - - - -
R = = 0.016 0.00 A [0-001 = = = = =
H18|~ Tl OFEDILEY mg/1{0.01LLF - - 0.021 0.0014 |- 0.001 0.001 0.002 0.001 0.002
- - 0.031 0.00LKi# |- - - - - -
— E = 2.6 3.5 7.6 = = = = =
EREe] Blid= 354173 mg/1{20LL F - - - - - 2.6 3.5 2.6 2.6 2.6
- = = 0.03 K15 0.03 K1 0.03 K1 - N N N R
H20|1, 1, 1—N)ranxr mg/1|0.3LLF - - - - - 0.03 A 0.03 A 0.03 A 0.03 A 0.03A4if5
Hol AF L —t—FFAe—F L (MTE  |mg/l|0.020F |- - - - - - - - - -
— - - E = 79 .6 0.9 E E E E =
B 22[i~ o A BT A mg/1|38LF - - 8.5 2.5 - 2.2 2.8 2.5 2.5 2.2
- - 6.3 2.8 - - - - - -
E = 3 T T E = = = =
H 23| B8 EE (TON) 3BT - - - - - 1 1 1 1 1
— N E = 40 117 E E E E E =
H 24|ZF 7R H Y mg/1{30~200 - - 124 117 87 60 75 70 89 72
- - 145 119 - - - - - -
N - - 8.1 * 0.1Am *  [0.IAGm *  [0.1KT [BESH [BESH [BESH [BESTH
H 25| BELLF - - 7.2 = 0.1 * o1 ¢ [o. 15 0.1 0.1 0.1 0.1
- - 9.4 0.4 « 0. UK « [0, ki 0. LA 0. LA 0. A 0. 1A
E = 731+ |1.06 * |17 * |7.43 7.33 7.29 7.40 7.28
H 26| pHAE 7.5FR - - 7.46  * 7.20 T VS v 740 7.33 7.39 7.40 7.30
- - 744 s 724 . 713« 717 7.18 7.20 7.20 7.39
E = =0.7 =10 E E = = = =
H27|Eg &tk (707 e -1~0 - - - - -1.1 -0.8 -0.9 0.8 -0.8 0.9
e o s e g ey [1mIF200081 |~ - 213 0 0 - - - N -
H 28| J8 S 28 Al Gk (et - - - - - 0 0 0 1 0
N = = (U E ST (RO E SR (e ST - - - -
H29|1, 1—y7/rpFL > mg/1]0.1LAF - - - - - 0.01 A 0.01Ai5 0.01Ai5 0.01Ai5 0.01 A5
E E 0.23 0.02 0.01 E E E E E
H30[7 L= Ak OZFDILAEY mg/1]0.1LL F - - 0.36 0.04 - 0.01 0.02 0.01 0.01 0.01
- - 0.35 0.02 - - - - - -
H31 NVTNARE B AV (PEOS) mg/1|0:0000551F - - - - - - - - - -
B OWNTNArAY R (PROA) 8 () _ . , . _ - , - - -
*3H ) fE
ZOfh i B Kt T ity HARIE VAL T [k Sz Ak [t o] 5 i o sl B SRHERAST 0 A< > oAy [HrcnT A
THH FQT KPR UKIER) UK) (e /K EE) (e /KEE) (e /KEE) (e /K EE) [GERES)
E E 203 ¢ [208 *  [214 * |22 27.3 25.8 26.4 25.1
IR T - - 16.3 = 168 = 174 16.0 15.9 21.0 21.0 18.5
- - 109 = 1.7« f125  « |10 12.6 17.9 15.6 13.9
— E = 52.0 * 140 = E E E E E E
WV E mg/1 - - 53.0 = 16.5 * 40.0 44.0 45.0 44.0 44.0 44.0
- - 53.0 47.2 - - - - - -
- E E 3.0 7.0 30 E E E E
WABREE mg/1 - - 4.0 3.0 - 3.0 4.0 3.0 3.0 3.0
- - 6.0 3.0 - - - - - -
VONANV S UNAIN (10LH) - - BT - - - - - - -
HAK X HH pg-TEQL - - - - - - - - - -

* A A




